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ENGLISH

Directions (Q.No. 1 to 15): In each of these
questions in the given sentence below there
is a blank. Choose the word or phrase which
best completes the sentence. '

1.

A special committee was set up to
__on the problem of football
hooliganism.

(A) investigate
(B) inform

(C) research
(D) report

I'm afraid | can't tell you what he said. It
would be a of confidence.

(A) rapture
(B) break
(C) rift

(D) breach

The hotel rdom was furnished
with only a bed, a wardrobe and an ancient
arm chair.

(A) sparely
(B) sparsely

. (C) scarcely

(D) sketchily

Our hosts had prepared a meal with
five courses to celebrate our arrival.

(A) generous

(B) profuse

(C) lavish

(D) spendthrift

Don’t thank me for helping in the garden. It
was______ pleasure to be working outdoors.
(A) Plain

(B) Mere

(C) Simple

(D) Sheer
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6.

10.

She had mind which kept her alert
and well- informed even in old age.

(A) anexamining

(B) ademanding

(C) anenquiring

(D) aquerying

The police decided to _ the
department store after they had received a
bomb warning.

(A) abandon
(B) evacuate
(C) evict

(D) expel
The school authorities the child’s
unruly behaviours on his parents’ lack of
discipline.

(A) attribute

(B) accuse
(C) blame
(D) ascribe

He was a hardened criminal without a scrap
of for his crimes.

(A) pity
(B) reproach
(C) remorse

(D) penance

The doctor prescribed tablets to help

the pain.
(A) lighten
(B) calm
(C) relieve

(D) rid
Set-D / Clags-IX/ 520



11. After the robbery, the shop installed a Directions (Q.No. 16 to 25): In the:
sophisticated alarm system as an questions, fill in the blanks in the senten

insurance ____ further Iossgs. with the correct option.
(A) for 16. They still think that women are inferi
(B) from ‘ —
(C) towards . (A) to
(D) against _ (B) than
12. Ifyou in arriving late, | shall have (C) from
to report you to the Manager. (D) with
e 17. The teacher was angry me.
(B) persevere | (A) upon
(C) insist (B) .to
(D) prevail (C) against
13. Farfrom finding the job too demanding, she - (D) at
seems to ___ | the challenges it : y
presents. 1‘8. A word‘processor is a typewriter.
(A) savour (A) more easier to use than
(B) relish (B) easier to use as
(C) cherish (C) aseasytouseas’
(D) regard (D) notas eaéy to use than
14. In the hands of a reckless driver a car 19. If you ice in warm water, it sol
becomes a weapon. :
melts.
(A) lethal ;
(A) will place
(B) fatal
' (B) would place
(C) mortal
(D) killer W pakon
(D) placed
15.  She took up so many hobbies when she _ _
retired that she had hardly any time 20. Howmanycopies_______ withthe orde
(A) on her hands (A) did we sent
(B) inhand (B) have we sended
(C) atherhand (C) sentwe
(D) athand (D) did we send

Page 4 of 40 Set-D / Class-IX / 5.

L]




21.

23.

24.

25.

| can't find my glasses. them
anywhere in the office this morning?

(A) are you seeing
(B) sawyou

(C) have you seen:
(D) did you have

Their product more imaginatively this
season.

(A) is being marketed
(B) is marketing
(C) is been marketed
(D) is marketed

When the post . I'll bring it to your
office.

(A) will arrive

(B) arrives

(C) isarriving

(D) is going to arrive

These documents arrived on Thursday,
7

(A) isntit

(B) didn'tthere
(C) didn'tthey
(D) weren'tthey

The numbers of orders went up we
increased our price by 15%.

(A) because
(B) although
(C) when
(D) if

Directions (Q.No. 26 to 35): In each of these
questions, a sentence divided into three
parts A, B, C. If there is some error in any of
the parts A, B, or C, then this is your answer,
otherwise answer is D.

26. (A) ladvised
(B) tohim
(C) to do his work properly
(D) Noerror.
27. (A) The teacher called Ravi
(B) and asked him
(C) to describe about the incident
(D) Noerror.
28. (A) This pen writes
(B) verywell
(C) but it costed me 100 rupees
(D) . NOerror.

29. (A) The bomb caused

(B) extensive damages .
(C) of the surrounding buildings.
(D) Noerror.

30. (A) Therewere
(B) hardly no trees left
(C) just bare rocky land.
(D) Noerror.

31. (A) lwould like youto
(B) complete this assignment
(C) before you leave for Mumbai.
(D) Noerror.

32. (A) The visitors complained at
(B) the poor accommodation
(C) they were given
(D) Noerror.
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33. (A) Youcant

(B) preventme

(C) togothere.
(D) Noerror.
34. (A) Onceindoor

(B) heimmediately took of
(©)
(D)
35. (A)

his wet clothes and dried himself
No error.
' The kangaroo
(B) belongs to a group of animals
(C)

(D)
Directions (Q.No. 36 to 40): Read the passage

called marsupials

No error.

carefully to answer these questions given

below it.
PASSAGE

The greatest enemy of mankind, as people have
discovered, is not science, but war. Science
merely reflects the socials forces by which it is
surrounded. It is found that when there is peace,
science is constructive; when there is war,
science is perverted to destructive ends. The
weapons which science gives us do not
necessarily create war; these make war
increasingly more terrible. Until now, it has brought
us to the doorstep of doom. Our main problem,
therefore, is not to curb science, but to stop war.
This is a job in which everybody must participate,
including the scientists. But the bomb of Hiroshima

suddenly woke us to the fact that we have very .

little time. The hour is late and our work has
scarcely begun. Now we are face to face with
this urgent question: “Can education and
tolerance, understanding and creative intelligence
run fast enough to keep us abreast with our own
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mounting capacity to destroy?” That is t
question which we will have to answer one wi
or the other in this generation. Science must he
us in finding the answer, but ultimately the ma
decision lies within ourselves.

36. The phase ‘our work has scarcely begt
implies that our work

37.

h 36

39.

(A)
(B)
(C)
(D)

has only just begun
has not yet begun
has begun but not yet finished

is not likely to begin

Our mounting capacity to destroy can |
kept under control by

(A)
(B)
(C)
(D)

encouraging social forces
education for all
creativity and intelligence

education, liberal thinking al

creativity

According to the author, the real enemy
mankind is not science but war, becaus

(A)

(B)

(©)

(D)

Science during wars is Ve

destructive

Science merely invents the weapo
with which war is fought

the weapons that science inver

necessarily lead to war

the weapons invented by science
not cause war, though they make
more destructive

According to the author, the solution lies

(A)

B)
(©)

(D)

preventing scientists  fr¢

~ participating in destructive activitie

abolishing war

stopping scientific

activiti
everywhere ’

stopping science from reflecti
social forces
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40. The expression “bring to the doorstep of
doom” means

(A) lead us to the threshold of a new
destiny

(B) introduce us to an unpredictable
future

(C) carry us close to death and

destruction

(D) take us step by step to ruin

Directions (Q.No. 41 to 50): In the following
passage, there are blanks, each of which has
been numbered. These numbers are printed
below the passage and against each, four
words are suggested, one of which fits into
the blank appropriately. Find out the
appropriate word.

There is no... (41)... about that fact the travelling
broadens the mind. Itis a... (42)... of education.
People who have not travelled may be ... (43)...
to frogs living in a well. Just like frogs, they begin
to ... (44)... that their village, or town, or city is
the ... (45)... world. This way to thinking makes
them ... (46)... and parochial. Those people who
read books, magazines and newspapers come
to ... (47)... something about the world outside,
but this is not the same thing as seeing the outside
world with one’s own eyes. To see the beautiful
Taj Mahal... (48)... moonlight is an experience and
a lesson in ... (49)... beauty that no ... (50)...
book or magazine can provide.

41. (A
(B) hesitation
(C) doubt
(D)

42. (A)
(B) way
(C)
(D)

proof

claim

site

method

Means
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43.

45.

46.

47.

48.

49.

50.

(C)
(D)
(A)
(B)
(€)
(D)
(A)
(B)
(€)
(D)
(A)
(B)
(€)
(D)

similar
compared
matched
like

believe
realise
Iremember
recall
complete
entire
enormous
Full

narrow
contained
csonstrained
restrained
believe
imagine
know
Think

from

with

of

by
admirable
aesthetic
commendable
remarkable
knowledgable
coloured
illustrated

entertaining
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51.
52.
531
1AL CON
CONPDENTY
SrrtAL (i_(‘)t\.
o
(1Y
\'“
54,
55,

GENERAL KNOWLEDGE

Electron microscope was invented by
(A) Knoll and Ruska

(B) Robert Koch

(C) Leeuwen huck

(D) CP. Swan Son

Catalytic converters are generally made
.from

(A) Carbon

(B) Alkaline metals
(C) Transition metals
(D) Hydrogen

Most commonly used bleaching agent is

(A) Alcohol

(B) Chlorine

(C) Sodium Chloride -

(D) Carbon dioxide

She is known for Narmada Bachao Andolan:
(A) Parvati Devi

(B) Medha Patekar

(C) Rama Bai

(D) Gaura Devi

The purest form of iron is :
(A) Castiron

(B) Steel

(C) Pigiron

(D) Wrought iron
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51.

52.

53.

54.

55.

FoEE geesll & SRR e e
(A) i 3R S |

(B) e Hd

(C) waTEH

(D) ¥.q. @HEA

IO HACY MGl [Hed S S
(A)  FEA

(B) &Y €Ty

’(C) ELS IS

(D) ®EgeN

Taiftes ST & M aren faiee Sy
7 BY

(A) TR

(B) A

(C) wifemw FES

(D) e F RS

38 FHI e e & [T ST K
(A) UmEdH 3t

(B) HHT UreaR

(C) TIE

(D) frr &

olie H Y& ©Y T Bx 87

(A) Twai e

(B) =W@@

(C) = el

(D) feai der
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56. Theinstrumentthat measures andrecords 5g. Iy & 9O oTEar & A9 ud R
the relative humidity of air is : T ST 2
(A) Hydrometer A) 313@"?[2'{
(B) Hygrometer (B) m
(C) Lactometer () SFerdiex
(D) Barometer (D) R

57. The shape of our milky way galaxy is 57 =T ST 311'@?[ 3
(A) Circular (A)  FTABR
(B) Elliptical (B) éﬁgﬁﬁm
(C) Spiral (C) @«
(D) None of the above (D) EQ’ﬂ'ﬁ 79 Eﬁé et

58. The different colours of different stars are 58. f=i-2 at & fr=-2 1 f=fofaa 4 @
due to the variation of Rraeh fAfaar ® H 8 &7
(A) Temperature (A) TIEE
(B) Pressure (B) W
(C) Density (C) &I«
(D) Radiation from them (D) =T R

59. The fundamental scientific principle inthe 59. 3Tq & YA &l b frsa ® :
operation of battery is
(A) Aéid —base interaction e i
(B) Dialysis (B) oTdEd
(C) Dissociation of electrolytes (C) %‘W
(D) Oxidation — reduction (D) SUNEaH

60. Thbgtfprce that keeps the planetsinaregular g0, qifdd &Y 7@F $ U Ffdad 9 W &4l &
orbit is .
(A) Electricity @) ﬁgﬂ
(B) Magnetic (B) W
(C) Gravitational (C) JowmHH

. (D) Divine (D) ¥y & A&

Page 9 of 40
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61.  Which country won FIFA U-17 world cup 61. BIH 3{E-17 2017 & I ¥ fsg

final-2017 in football : e 291 3 ofter?
(A) England A) E‘E?I'U's’
(B) Spain (B) &
(C) Nigeria (C) o
(D) Brazil (D) sl
62. Who is defence minister of India? 62. WG B <& A B B2
(A) Arun jetly (A)  ITET e
(B) Nirmala Sitaraman (B) orfar S
(C) Piyush Goyal (C) GHT Tad
(D) Rajnath singh (D) TS fis
63.  Who won noble prize in literature in 20177 63. 2017 % qifeg & Nad J5EhR frge i
(A) Kazuo Ishiguro A) q;qaﬁ ggﬁgi’[
(B) Richard Thaler (B) = X
S| (C) Michael Young (C) HrSsha I
&;\X\‘"@\B‘N‘\ (D) Jefferry Hall (D) S a
l\(EQ (( \\\‘: 64. US ambassador to the UNITED Nationsis  64. g T & Rl ol 1 g @ 37
T (A)  Nikki Haley A) P 3
(B) Ellie Black | (B) Uil daieh
(C) Morgan Hurd (C) #¥ &
(D) Eremina Elena (D) QHT Rt
65.  When is the international girl child day is 65. ‘HIS &= Raw’ af & frg R =
celebrated every year? ST 27
(A) September 11 (A) =T 11
(B) October 11 (B)  SfeRgEX 11
(C) November 11 (C) g%’ 11
(D) December 11 (D) RE=R 11
- Page 10 of 40 '  Set-D/Class-IX/ 5
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67.

69.

70.

The process of depositing a layer of zinc gg.
on iron is called

A)
(B)
(©)
(D)

The shape of rain drop is spherical due to

lonization

Crystallisation

Galvanization

Neutralization

67.
(A)
(B)
(C)
(D)

The nucleus of an atom consists of

Viscosity

Surface tension

Elasticity

Gravitation

68.
(A) Electrons and neutrons
(B) Electrons and pfotons
(C)
(D)

A solar eclipse occurs when

Protons and neutrons

All of the above

69.
(A) Moon comes between earth and sun
(B) Earth comes between moon and sun
()

(D)

Sun comes between earth and moon

The sun earth and moon are in the
same line

The noble peace prize of 2017 is givento  70.
(A)
(B)
(C)

Hillary Clinton
Barrack obama
Zannah Mustapha

(D) International campaign to aboish

nuclear weapons (ICAN)
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e IR ST O T IR STHT B I Hfshar
T Fel A 87

EE 11 S
PRI
UGERIEENE]

(D) g

Rt 3 Q R i 91 9ot @ a9 3 O @
5T A & o 7

(A) TATTE
(B) U< a@
(C) liadT

(D)  TGEmERNT
Y H Hw [HEY S ST 87

(A)  FEERE $R R
(B) T A d
(C) M R =ggrd
(D) & q |l

(A)

(B)
(©)

(A) =ic ge ok i & & o o R
(B) 9= =g IR g4 & &= & o W B
(C) T g 3R =g & drw & o e B
(D) ®iE, gedt 3R d & e 7 o F
2017 1 et SMifr goenr fray far mar &
Rt faiet
R S
STTET JETH
T R AR SISy (o )

(A)
(B)
(©)

(D)
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(A)
(B)
()
(D)
67.
(A)
(B)
()
(D)

(A)
(B)
()
(D)
69.
(A)
(B)
(©)

(D)

70.

(A)
(B)
(C)
(D)

The process of depositing a layer of zinc
on iron is called

The shape of rain drop is spherical due to

The nucleus of an atom consists of

A solar eclipse occurs when

The noble peace prize of 2017 is given to

66.

lonization

Crystallisation

Galvanization

Neutralization

67.
Viscosity

Surface tension

Elasticity

Gravitation

68.
Electrons and neutrons

Electrons and pfotons

Protons and neutrons

All of the above

69.
Moon comes between earth and sun
Earth comes between moon and sun

Sun comes between earth and moon

The sun earth and moon are in the
same line

70.
Hillary Clinton

Barrack obama

Zannah Mustapha

International campaign to aboish

nuclear weapons (ICAN)
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qle X STET St Teh TR STHT e a0l Sfshar bt
T el A 87

(A) OIS _
(B) SN
(C) TaZeH

(D) PEKIESEE]
=1 & O fohg uferar 3t aote @ aut & g @
5 et & I 27

(A) TA TS
(B) U= TNE@
(C) I

(D)  ToEmERT
Y F Hm e S B 27

(A geEE ol E
(B) gy 3R e
(C) M AR ggrd
(D) & 4 &l

(A) % g oM g & < § o S 2
(B) 9=l =g IR g & I & o o B
(C) §d g 3R =g & drg & o o B
(D) ®iE, gedt 3R G o e 7 o B
2017 & A= i goenr Ry Rar @ 2
feerdl fortest
(B) A ST
(C) SI=TeT q&IBr
(D) T R SRE Siaisiy (31 )

(A)
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13 The only state in India that produces saffron 71 s & a7 IS Baw T T B
is
(A) Meghalaya ®) e
(B) Kerala » (B) I
(C) Himachal Pradesh (C) femrem s
(D) Jammu and Kashmir (D) 9 HHR
72.  'Titan'is the satellite of which planet? 72. TEH 69 U8 B IwWE & ?
(A) Mercury A T '
(B) Earth . (B) T’iﬂ
(C) Venus C) TF
(D) Saturn D) 9
73. g:;c:eg?agﬁ:n -rc;,:ir:t:ngrade is equal to .... 73. g9 Rt AT A
AR 8 -
(A) 273
(A) 273
(B) 32 B) 32
| (C) 283 (C) 283
e (D) 92 (D) 92
74.  Which of the following mountains are the 74, =1 § § T [T RS ...... g
oldest :
(A) - Nilgiris @ A
‘ (B) Aravalis (B) STl
1 (©) Satpurés (C): g
| (D) Himalayas (D) festrea
75.  Width of Board Gauge Track in the Indian  75. 9IRa @@ # s 97 3% &t A2l ..
’ Railways is : T
| (A) 1000mm (A)  1000mm
(B) 1676mm (B) 1676mm
(C) 862mm ' (C) 862mm
(D) 1500mm (D) 1500mm
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78.

79.

Mansabdari system was introduced by

(A) Akbar

(B) Shershah
(C) Humayun
(D) Jahangir

Who is winner of Wimbledon championship
2017 in men'’s singles?

(A) Roger federer
(B) Andy murry

©)
(D) Rafael Nadal

Marin Cilic

An Astronomical unit (AU) is a unit of :
(A) Time

(B) Mass

(C) Distance

(D) Allof the above

Which one of the following is and ore of
iron? '

(A) Haematite

(B) Magnetite

(C) Bauxite

(D) Smeltite

Human Rights Day is on :
(A) 24t February

(B) 215tJuly

(C) 15%May

(D)

10th December

Page 13 of 40

76.

Tt

78.

80.

TrrgERT ST R A B

(A) STHsT

(B) AWME

e

(C) &g
(D) VMR

R 6 Tl A 2017 F e
P 87 B

A) AR BT
(B) T W

(C) WA Rifid
(D) & e

(B) #H™
€ W
(D) T 4 &l

frer # @ Frad aer oG F= &Y H 9
ST 27

(A) AR

(B) #™TIEE

(C) diFdRS

(D) WRIRE

wME e fRa|
(A) 24 %Ed

(B) 213WR

(C) 157

(D) 10 RE=T
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81.

82.

83.

85.

- Where is Nathpa Jhakri Power project g1

located?

(A) Uttarakhand

(B) Arunachal Pradesh
(C) Himachal Pradesh
(D) Andhra Pradesh

Ankleshwar and kalol are two oil fields in 82

(A) Maharastra
(B) Assam

(C) Guijarat

(D) Rajasthan

The famous ‘Gir’ forests are located? 83.

(A) Mysore
(B) Kashmir
(C) Gujarat
(D) Kerala

The Indian standard Time 84

(IST)is

(A) 57 hours ahead of GMT

1
(B) 4= hours behind of GMT

(C) 4 hoursahead of GMT

1
(D) 5; hour behind of GMT

Which of these harbours is not a natural 85.

harbours

(A) Chennai
(B) Mumbai
(C) Cochin
(D) Paradip

Page 14 of 40

T Y forgge REer el Rexd &7
(A) IERES

(B) TEUITEW HeH

(C) e e

(D) aTiE Haxl

Fiebaiga SR &l a1 dd 8 ©
(A) T |

(B) oTEd H

(C) o #

(D) TR H

nirs ‘PR’ a9 et fRera 27
A)  FHEX

(B) FHER

(C) Iod
(D) &

. ARd & qME 99 JAlE 9 o 9

A S%Ei%aaﬁ%

(B) 4%&'%%%
(C) 4E2 M 8
(D) S%Ei%tﬂ@%

frfefaa & SF-a1 Sl Az el
(A) =

(B) T
(C) ®EN

(D) UREY
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89.

90.

Jadugoda mines are famous for
(A) lronore

(B) Mica deposits

(C) Gold deposits

(D) Uranium deposits

The busiest and the most important sea
route of the world is

(A) North Pacific Sea Route

(B) North Atiantic Sea Route
(C) SouthAtlantic Sea Route
Indian Ocean Route

(D)

The Andaman group and Nicobar group of
islands are separated from each other by

(A) Ten Degree Channel
(B
(€)
(D)

“Redcliffe line” is boundary line between

Great Channel
Nine Degree Channel

Andaman Sea

(A) India and Bangladesh
(B)
(€)
(D)

What is the International Date Line?

India and Bhutan
India and China

India and Pakistan

(A) Itisthe equator
(B)
(€)

It is the 0° longitude

It is the 90° East longitude

(D) Itisthe 180°longitude
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86.

87.

89.

g @ @ R B
@A) e oEEs B e

(B) WEH B ASKI & foQ
€) @i P SRl & fore
(D) TFE & ToEr & e

et R

(A) IR G TR A

(B) IR oreid wgR A

(C) @R Frewiied TR A
(D) fo #E@PFR A |
giea A9 Y8 SR FeeR € T
Rrefeiad & § fre® &) T gat 8
fpd T@E ?

(A) T & o
(B) Y I

(C) g fh A
(D) d=HN PR

s g FrRad § & R 3 & 99
G X R7

(A) WA AR TR
(B) R 3

(C) R &R =

(D) ¥Ra AR &=
i Y R @ 87
A) T e e

(B) TE 0° X@iv B

(C) ¥ 90° i X@iv ®
(D) e 180° X &
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9.

92.

93.

95.

Indian standard Time (IST) relates to ’ 1.

(A) 75.5°E longitude
(B) 82.5°E longitude
(C) 90.5°E longitude
(D) 0°longitude

How far does the Exclusive Economic zone  92.
of a country extend from its coast?

(A) 170 km
(B) 270 km
(C) 370km
(D) 470 km

In which of the following is the ‘Great Barrier g3,
Reef’ located?

(A) Coral Sea

(B) Solomon Sea

(C) Bismark Sea

(D) ArafuraSea

‘“Teen Bigha Corridor’ links 94.
(A) India and Pakistan

(B) Indiaand China

(C) Bangladesh and Pakistan

(D) Bangladesh and India

The substrate of photo — respiration is " 95.
(A) Pyruvic acid
(B) Glucose
(C) Fructose
(D) Glycolate
Page 16 of 40

ARAIE A TG94 e T@ie OX IO
g7

(A) 75.5°E @idl

(B) 82.5°E @idl

(C) 90.5°E @iql

(D) 0° @is

fFf 391 @ ‘o T B IE <
forcl gX % i o

(A) 170 f&

(B) 270

(C) 370fFR

(D) 470 fH

e A v’ Freforeaa & & Read Re
(A) IR TR

(B) W W%

(C) e &R

(D) SARTHT Hgs

= i FRE et @
(A) WA SR e
(B) ¥R 3R &M Hl

(C) sivames R ifhE= H
(D) SFARY AR AT Al
TS SAEA HI AR FT o7
(A) EEEH T

(B) TgHH

(C) W™

(D) A
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97.

98.

99.

Which one of these animals is jaWIess?
(A) Shark

(B)
(©)
(D)

Afla - toxins are produced by

Myxine
Trygon

Sphyrna

(A) Bacteria
(B)
(©)
(D)

Fungi

Viruses

Algae

What is the bulb filament made of ?
(A) Steel

(B)
(€)

Argon
Tungsten
(D) Nitrogen

While catching a ball, a player pulls down
his hands to lower the

(A) Force
(B) Moment
(C) Impulse

(D) Catching time

100. Geostationary satellite revolves at-

(A)  Any height

(B)
(€)

Fixed height
Height which depends upon its mass

(D) Height above pole
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96.

97.

98.

100.

(B)

& IVl ¥ | fras 992 TE 8
A)
[ECRIES

(B)

(©) A
(D) Rt

wrT-fay fred S99 B
(A) S

(B) ®a%

(©) famry

(D)

Fod 1 e e 91 8 87
i

IR

e

(D) g

(A)

(C)

- S & TR GHY, T b Raenel frefeiiad

7 ¥ fhas $9 1 B U o1eer B | &%

qar 27

A

(B) daw

(C) &

(D) %9 FA F T |

- (geerret) Swre frfafaa & & R

SaE R IREHAT el 87

A) < FEE W

(B) & Fifswd SuE W

(C) 39 HUE W N 36D EIHN T e
H B

(D) ga A IU0 FeE W
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MATHEMATICS / INTELLIGENCE TEST

101. Which of the following is not true ? ’ 101. P ¥ § B9 T T8 7
(A) 5:25=20% (A) 5:25=20%
(B) 0.27% =0.0027 (B) 0.27% =0.0027
(C) 7.4%=37:50 . (C) 7.4%=37:50
(D) 18:72=25% (D) 18:72=25%
102. The median of set of numbers : 13,19,85,14  102. e 9= 13,19,8,5,14 @l Liii=E7
T
B) 5 S
(C) 13 G,
(D) 14 ¥

103. After 35 years, Rohan will be 8 times as old 103. 3588t &%, e A g ITebl A ¢
as he is now. The present age of Rohan is q 8 T 2 s B qﬁqﬁ g 2

(A) b5years (A) 5ay
M. (B) 7 years (B) 7y
NTIAL ST '
fg‘}khi\\‘?@n\‘?’ (C) 4years ©) 4a¥
(D) 8years (D) 8%
\ 104. The largest of the following is 104, Pyt & & T T ©
‘: (A) 0.0001+0.01 (A) 0.0001+0.01
x
‘ ' (B 1/100-1/1000 (B 1/‘!00-1/1000
(C) (0.1 : (C) (0.1
(D) 1/10+0.001 (D) 1/10+0.001
105. Inaparallelogram ABCD . if DO and CO 105. TH TR IgHT ABCD d, A
are the bisectors of #4DC and ZBCD AR co FHM £4ADC AR £BCi
| respectively, thenreflex ~DOC is equal to: guREHSTS &, al g@ﬁﬁ'ﬂ[ /DOC &
™ A 270° B
0
(B) 200° (A) 270
(B) 200°
(C) 210°
(C) 210°
(D) 205° D) 205°
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106. LC.M of (2x’-3x-2) and 405 FoHoTo (25> 3= 35 SR

3 2 i -
(x*—4x" +4x) is: (x3—4x2+4x) 5

A x(x=2)2x+1) A)  x(x-2)2x+1)

(B)  x(x-2)'2x+1) B) x(x—=2)'2x+1)
€)  x(x-2)(2x+1) (C)  x(x—=2)2x+1)
(D) (x=-2)(2x+1) (D) (x-2)2x+1)
107. The factors of (x* +625) are - 107, (x*+625) % TrrETE B
(A (x*-25), (x?+25) (A)  (x*=25), (x*+25)
(B) (x*+25), (x?+25) (B) (x*+25), (x*+25)
(C) (x?-10x+25), (x* +5x+25) (C) (x?-10x+25), (x* +5x+25)
(D) Do not exist (D) =@ g gl
108. In the given fig, OG=0OF. The area of the 108. R ™ R ﬁ, OG=OF = & &wa &
figure is - ;
2m 2m
) 2m o g 2m . A Q E D
£ = O
£ - % £ gl © £
~ & G it B
G F B C
B C
12m 12m
(A)  56m? (B) 64m? T i it
(C) 74m? (D) 28 m? (C) 74m? (D) 28 m?

109. If the arithmetic mean of 7,513, x and9 109. AR 7,513, x A9 H AF T 10 @ x

be 10. Then the value of X is H AM
A 10 (B, 12 (A) 10 B) 12
(C) 14 (D) .16 (C) 14 (D) 16

110. Aman sells 320 mangoes at the cost price 110, TE R 320 ST F 400 a3 g
of 400 mangoes. His gain percent is : T W Jee 3 SHH g e D

A)  10% e
(B) 25% (B)  25%
C) 15% ©)  15%
(D) 20% D) 20%
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. LC.M_ of (2x'-3x-2) and

(X’ —4x* +4x) is:
(A x(x=-2)2x+1)
B) x(x—2)'2x+1)
©)

(D)

x(x=2)2x+1)

(x-2)2x+1)
. The factors of (x* +625) are -

(A  (x?-25), (x*+25)

(B) (x*+25), (x*+25)

(C) (x*=10x+25), (x*+5x+25)

(D) Do not exist

. In the given fig, OG=0F. The area of the
figure is -

2m 0 2m

H E=p
£
5 s | g
N~
12m
(A) 56m? (B) 64m?
(C) 74m? (D) 28 m?

. If the arithmetic mean of 7,5,13, X and 9
be 10. Then the value of X is

(A) 10 (B) 12
(C) 14 (D) 16

. A'man sells 320 mangoes at the cost price
of 400 mangoes. His gain percentis :

(A) 10%
(B) 25%
(C) 15%
(D) 20%

106.

107.

108.

109.

110.
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©)

dodoTo  (2x*-3x-2)  @IX
(x* —4x* +4x) g
(A)

(B)

x(x=2)2x+1)
x(x-2)’(2x+1)
x(x-2)2x+1)
(D)
(x* +625) % TTES &~
Q)

(x=2)(2x+1)

(x?=25), (x* +25)
(B)
(C) (x*=10x+25), (x*+5x+25)

(D) & & THdl
ﬁﬁ@ﬁﬂﬁ, OG=OF 1 = 8= &

s

(x? +25), (x*+25)

2m 0 2m
A H E D
£
= 6
g ° E
12m
(A) 56m? (B) 64m?
(C) 74m? (D) 28 m?

Ik 7,513, x Mo AAT 10 X
B AF B

A) 10 (B) 12

(C) 14 (D) 16

T% A 320 STHI H 400 ST & 9
Ted WX Sl ol Sue fawd e §
A)  10%

(B) 25%

(C)  15%

(D) 20%
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1.

112.

113.

114.

115.

If5=23and 9 =79, then 12=?
(A)
(B)
©)
(D)

Which of the following is greatest ?

145
142
144
146

(A)
(B)
(C)
(D)

A can do a piece of work in 30 days while B
can do it in 40 days. A and B working
togethercan doitin:

(A)
(B)
(©)

(D)

Which of the following numbers is a
palindromic number as well as a perfect
square ?

A)
(B)
(©)
(D)

How many persons will be able to eat for
50 days on food which is sufficient for 400
persons for 10 days.

(A) 80
B) 8
(C) 40
(D) 200

23/36%
0.6%
7 3/18%

13 3/14%

70 days

171/4 days
190/7 days
120/7 days

98789
56765
123454321
17161

Page 20 of 40

g 5=233R 9=79, W 12="7

112.

113.

114.

115.

(A)
(B)
()
(D)
Prefefad # § DI §o9 91 &7
) '
(B)
(C)
(D)
Aot 9 @ A30 R § & B 40k |
a0 e 81 AR B w [LSETEE
Fm B e Rt & qu B

(A) 70T

(8) 171/41%A

(C) 190/7 &A
(D) 120/7 f&A

Rrefefag demel § & ©F faen
(M) e ot ot o &7

(A)
(B)
(C)
(D)
400 A B Rw 10 RA 0 AH 50
q% e QT @1

(A) 80

B) 8

(C) 40

(D) 200

145
142
144
146

23/36%

0.6%

7 3/18%

13 3/4% !

98789
56765
123454321
17161
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116.

117.

118.

119.

120.

If the interest on a sum of Rs.500 is equal
to Rs. 500 in ten years, what is the rate of
interest ?

A) 5%
(B) 2%
(C) 10%

(D) 12%%

The simplification of 1+1/10+1/100+1/1000
in decimal form is

(A) 1.0001

(B) 1.111 |

(C) 1.001

(D) 0.1111

Atank whose length, breadth and height are
respectively 7m, 6m and 5m, then find the
water holding

(A) 210m?
(B) 320m?
(C) 300m?
(D) 350m?

Out of certain sum of money Mahesh
spends 2/3 on first day and 1/6 of the
remainder on second day. Now he had 250
rupees left. What amount had he first ?

A)
(B)
(©)
(D)

If one dozen note books costs 252 rupees,
find the cost of 10 note books.

(A)y 210
(B) 200
(C) 189
(D) 168

600 rupees
800 rupees
900 rupees
1000 rupees

~ Page 21 0f 40

116.

117.

118.

119.

120.

(B)

(D)

3R 500 ®o FH &N 500 Go 10 a¥ H
BT & @ T & 4 B?

A) 5%

(B) 2%

(C) 10%

1229

P

(D)

1+1/10+1/100+1/1000 ' EIHT B F
aﬁf’ill

(A)
(B)

1.0001
1.11
(C) 1.001
(D) 0.1111

T 7% R @=E, HarE, S 70, 6
Hlo T 5o, 2 3H S N U TR B/
& S Y
(A)  210m?
320m?
(C) 300m?
(D) 350m?
F TSl F | 7R F ved R 2/3 AR
T T w16 W gE R @d
fhar | o9 SED U 250 ® A9 ¥ Q@

TSl g& # 3B g feee wsh e

(A) 600rs.

(B) 800rs.

(C) 900rs.

(D) 1000 rs.

T &S HUE B HEG 252F & @ 10
UG B AT Fr Enfr?

(A) 210

(B) 200

(C) 189

168

v
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121. Find the value: 0.001/0.01

(A) 0.01
(B) 0.001
(C) 0.011

(D) 01

122. Inadivision sum, if the divisoris 51, quotient
is 16 and the remainder is 27, thendi

is ?

(A) 843
(B) 483
(C) 94

(D) 1393

123. Mohan is having 20% more money than
sham. If Sham has 500 rupees,

the money that Mohan has?
(A). 600 rupees
(B) 520 rupees
(C) 400 rupees
(D)  None of these
124. 2/5% of 240+ 3/6% of 180 =
(A)  2.03
(B) 204
(C) 3.04
(D) 204
125. Roman Numerals of 98 is
L&) XCVil
(B) XCWI
(C) Xcwvi

(D) XCWV

122

123.

124.

125.
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121, 0.001/0.01 & I & F

(A) 0.01
() 0.001
(C) 0.01

(D) 01

@W%mﬁ,wmf
'ﬁ%lléﬁﬁl?ﬁﬂ%ﬁfaiﬂwa‘l

(A) 843

(B) 483

© o

(D) 1393

Fed B UW @E A 20% TR A

T @ & T 500 & ¥ & A &
R ® &7

(A) 600 rupees

(B) 520 rupees

(C) 400 rupees

D) T § B T

2/5% T 240+3/5% I 180 =
(A) 203
(B) 2.04
(C) 3.04
(D) 20.4

7 o F o8 H fwraT
(A) XCMII
(B) XCWI
(C) XVl
(D) XCVIV
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Si4isequalto: 126.

A) 125%

(B) 80%

(C) 60%

(D) 40%
55:1::42:8::62:27::93:7
(A) 16

B) 27

(C) 49

(D) 81

If rank of a student from last is 17" and 15"
from beginning, then how many students
are there ?

A 31
(B) 32
(C) 33
(D) 17

. Find the missing term.

127.

128.

129.

117 23 31,
19729737743
.41

®

33

(B) 53

o

© 83

37
47

. Amachine takes 12 minutes to fill 200 bottles
of Coca Cola. At this rate how many minutes
it will take to fill 500 bottles of Coca Cola?

A)
(B)
(©)
(D)

(D)

130.

25 minutes
28 minutes
30 minutes

40 minutes
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543 ¥ e IR 27

(A) 125%

(B) 80%

(C) 60%

(D) 40%
56:1::42:8::62:27::93:7?
A) 16

(B) 27

(C) 49

(D) 81

afs fpelt foemeft @ = sid & 17a1 ik
Y @ 1581 B, @ e @ ga den
et B7

A) 31

(B) 32

(C) 33

(D) 17 >

IR TF Hd B

&7 23 31

. — .7
19729737743
41

*) 47

&

) 53

41

(©) 53

¥
47
T HeI i1 Hiel H 200 Saat 12 Frfe
o3l B1 3 & & 500 A B e

(D)

q ai?

25 fire
(B) 28T
(C) 30fme
(D) 40T

(A)
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138.

139.

p=-3

The possible value of X in the linear

ti gx+1—z'
equation 3 3 s

A 3 (B) 2

€ -2 (D) -3

2

>7d of anumberis 20 less than the original

number. The number is-

A 80 (B) 90

(C) 60 (D) 70
3x+5F1

The value of x from == g
2x+1:53

A 2 B) -2

€ 3 O -3°

Answer of 9.5 X '0%)4 in ordinary rotation
is -

(A) 0.95

(B) 0.095

(C) 95

(D) 0.0095

6
If 3 47 =3" then value of x is-

@A -3
(B) 4
(C) 5
(D) 2

40. If (9%)? = 3" then value of x is-

A) 14
B) 16
(C) 15
(D) 17
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135.

136.

137.

138.

139.

140.

(B)
(©) 95

A 3
(C) -2

.2 .
Rt G 374 H I GO 20 F R,
@ ger B -

(A) 80 (B) 90
(C) 60 (D) 70
2 o 3x+5= l .
2x+1 3
A 2 B) -2
(C) 3 (D) -3

HERT S 9.sx"°%)4asrw% a

(A) 095

0.095

(D) 0.0095

u1%3%7=3" @ x #ATE -

A 3
B) 4
©) 5
(D) 2

A (9 =3 @ x mAT E -
(A) 14
(B) 16
(C) 15
(D) 17
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141.

142.

143.

144,

145,

By simplifying (3x° y6)4/ (3364)’6)3 the
answer will be-

@ 3x*y°

® 3x'y

© 3x°y’°

® 3x"y*

Quarter of a circle is —
(A) Major segment
(B) Chord

(C) Quadrant

(D) Semi circle

If radius is 18 cm and angle at the centre of
a circle is 120° then area of sector
approx1mately is -

(A) 382.4 cm? (B)
(C) (D)

The Perimeter of a square is 32 meter. What
will be its area ?

339.3 cm?

350 cm? 300 cm?

(A) 160m? (B) 64m?
(C) 128m? (D) 96m?
-2
4

By evaluating (A ) / o result will be-

(3) .
|, s
.25
(=) 16
o B
(©) 48
i
(') 75
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a1 (35504 /(3xH0)Y AT HH T

£

@ 3x*y°

® 3x°y

© 3x’y’

© 3x"y*
g H TH G © -

(A) 9@ TS

(B)  Sidl

(C) Tgaia

(D) g
ﬂﬁgﬁﬂ%ﬁﬂf%w%‘ﬂoaﬂ'(
For T 120° A G H AT A

(A) “3824cm: (B) 339.3cm’
(C) 350 cm? (D) 300 cm?
o it 1 gREg 32 Hex B SEH
1 Brm?

(A) 160 T
(C) 128 T

142.

143.

144.

(B) 64 THIE
(D) 96T HIE

145.

B 15
(©)

(D)
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A

520

445 The cost of 3 dosas, 5 idlis and 7 vadasis 146,
~ Rs.154. The cost of 5 dosas, 8 idlis and 11

vadas is Rs. 246. Then the total cost of one

dosa, one idli and one vada is-

(A) 24
(B) 26
(C) 30
(D) None of these

The age of aman 15 years ago was 5times 147
his son’s age. His age 10 years ago was
thrice his son’s age. After how many years
will their combined age becomes 80 years?

A 10 (B) 20
(C) 30 (D) 40

There are 2 classes A and B. If 10 students 148.
leave class A and join class B, then the ratio
of the number of students in classAand B
would reverse. The difference in the number

of students in class A and B is-
(A) 10 (B) 20
(C) 30 (D) 40
143, 4% of a number is 416. Then 85% of that 449
~ number is- '
(A) 500.5

(B) 5255

(C) 600.5

(D) None of these

L3
7
By what percentage is B's salary greater
than A's salary?

' The ratio of the salaries of Aand Bis 2:2 150.

. 1,
(A) 77 /o

(B) 8%%

(©) 9-17-%
(D) None of these
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o 3 3, 5 g5A SIR 7 98 H A 154
Eo%mséﬁ,ssgaﬁaﬁiﬂaéﬂ
m24660%|@f@m,@5€6ﬁ@'(
wh S W W AW © -

A) 24
(B) 26

(C) 30

D) T & B T

o i @ 15 a8 g o gF A E S

gareﬂmoaﬂgé?hﬂgmmnﬁﬂﬁaé
a7 R B % o 80 af & 7
@ 10 (B 20

C) 30 (D) 40
amﬁ%Aaﬁ'{Bqﬁmwaﬁ&ﬂAﬁ

mmaﬁaﬁ%é’rmmﬁtaﬂ
Bﬁmﬁﬁﬁ@rwwﬁwma
WAWB%W’I"?{M@TWW%—
A) 10 (B) 20
(C) 30 (D) 40
.ﬁﬁ&h@i@remm%%meawmaﬁ
85%%— '
(A) 5005
(B) 525.5
(C) 600.5
D) T q HE T
AWBQ&WWWTZIZ%%I
BqﬁmﬁA%ﬁ»ﬂ%mm%?
10

(A) 77A)
(B) 8%%

. 4bs
(C) 97/0
(D) T q H3 T
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151,

152.

153.

154.

155.

The sum triples in 4 years under Compound
Interestata certain rate of interest, interest
being compounded annually. Time it would
take to become g times itself is —

(A 6 B) 8
© 10 (D) 12
Find the sum that would amount to Rs. 6600

under simple interest in 4 years at 8% per
annum —

(A) 5000

(B) 5500

(C) 6000

(D) 6500

Which of the statement is not true —

i. 72 km/hr = 20m/sec

i. Curved Surface area of acone is rrh
ji. |fp>oandg>0 then p-g>0.

s (g)% =4
@ O

B8) ()
(€) (i)

© W

Length of platform which a train 400m long
travelling at 45km/hr can Cross in 40
seconds is-

(A)
(C)

A man can row 2 km upstream in 20 minutes
and can return in another 15 minutes. His
average speed for the entire journey is—

500m 300m

(B)

100m (D) 50m

48

(A) 7 km/hr

47

(B8) = km/hr

48

(C) < km/hr

47
(D) —5- km/hr
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15%

152.

153.

154.

155.

@mﬁa;ﬁiwaaﬁh%m?ﬁ
m%maﬁ%m%ﬂﬁggﬂtaﬁ
ﬁwmﬂwm?
(A) 6 ®|) 8
(c) 10 (D) 12
maﬁﬂnﬁa’tesooaaﬁmﬁﬁ
mwma?ts%aﬁasﬂ -
(A) 5000
(B) 5500
(C) 6000
(D) 6500
zﬁmmmwa’a%-
i 72 km/hr = 20m/sec
(i) a@maﬁmmm% nrh
(i) \fp>0 and g>0 then p-a>0
W @8 =4
A O
(B) (i)
(c) (i)
(D) )

ﬂa@éﬁ%@moﬁaﬁ
27145%0/3“%2\&11%%40%?63?”11
FA © -
(A) 500m () 300m
(C) 100m (D) 50m
@aﬁﬁmzﬁsﬁomﬁzom
amarﬁaawﬁﬁwmzm%mwﬁ
S o we aen A ® -
A 43
(A) 7 m/hr

47
(B) — km/hr

7

48
() 5 lmir

47
(D) 5 kmir
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181,

152.

153.

154.

155.

The sum triples in 4 years under Compound
Interestata certain rate of interest, interest
being compounded annually. Time it would
take to become g times itself is —

A 6 (B) 8
© 10 (D) 12
Find the sum that would amount to Rs. 6600

under simple interest in 4 years at 8% per
annum -

(A) 5000

(B) 5500

(C) 6000

(D) 6500

Which of the statement is not true —

i. 72 km/hr = 20m/sec

i. Curved Surface area of acone is rrh
ji. |fp>oandg>0 then p-g>0.

w O

B) (@
(€) (i)

©) )

Length of platform which a train 400m long
travelling at 45km/hr can Cross in 40
seconds is-

(A) 500m (B)
©) (D) 50m

A man can row 2 km upstream in 20 minutes
and can return in another 15 minutes. His
average speed for the entire journey is—

300m
100m

48
(A) Kl km/hr

47
(B) = km/hr

48

(C) 5 km/hr

47
(D) —5- km/hr
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151.

152.

153.

154.

155.

Qﬁﬁﬂﬁ4ﬂiiﬂ§lﬁﬁ@%ﬂﬁﬁ
m%mqﬁsm%ﬂaggﬂraﬁ
¥ gq R B & w

i 72 km/hr = 20m/sec
(i) a@mmmm% nrh

(i) \fp>0 and g>0 then p-a>0

W (8 =4

A O

(B) (W
(C) (i)
O V)

amarﬁaaqﬁﬁwmzm%mm‘ﬂ
e R @ e

48
A) = km/hr

47
(B) = km/hr

ﬁ
5 km/hr

ﬂkmﬁl'
5

©)

(D)
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156. Pipes P and Q can fill a tank in 20 minutes

157.

158.

159.

160.

and 30 minutes respectively. If they are
opened simultaneously, then they can fill it
in-

(A) 10 minute
(B) 12 minute
(C) 14 minute
(D) None of these

Which of the following set of fractions is in
ascending order

A)

1

AW
(SRS}

s
's

(B)

(RN
W

N | —

AW
W~

N | —

(C)

| —
| o

4
EN]

The circumference of a circle is 44 cm. Find
the area of the circle :

(A) 160cm?  (B) 158 cm?

(C) 156 cm? (D) 154 cm?

A number when divided by 169 leaves 91

(D)

- as remainder. If the same number is divided

by 13 the remainder is —

A 0 (B) 1

(C) 6 (D) 9

If p is a prime number theh LCMof p
and (p+1) is -

A p

p(p+1)

(B) 3

© (p+1)

(D) p(p+1)
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156.

157.

158.

159.

U9 PR QU 3% B FAw: 20 Bee
MM IMU MR S =
Teh @il ST F o ol 9 & THG -
A 10 e

(B) 12fFe

(C) 14fFR

(D) ¥ & B 7

B A BT B e o A R -

W |

3 4
A 3353

(B)

W1

- = =
5 372

o | —
W |

3
(C) 1

1
%
Rt g & R 44 . ¥ S
A5 & :

(A) 160 cm? (B) 158 cm?
(C) 156 cm? (D) 154 cm?

T HEA 169 § A I T AN 91
e 21 A I Hem @ 13 Y Em A

(D)

W

4
"5

- VBT B -
(A) 0 ' B) 1
(C) 6 . (D) 9

160.

MW p T o R A p AR
(p+1) % WoHoTo B -

A p?

p(p+l)

(B) 2

C) (p+1)

(D) p(p+1)
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161. 1f581is divided among A,B,C so that 4A=
5B=7C then A and B's Share respectively
is— ‘

(A) 196,245
(B) 196,140
(C) 245196
(D) 245,140
162. In an equilateral triangle ABC, if AD is
perpendicular to BC then-
A
B D C
(A) 2AB*= 3AD? (B) 4AB’= 3AD?
(C) 3AB*= 2AD? (D) 3AB?= 4AD?

{ 163. The circumcenter of a right angle triangle
lies

l: (A) Inthe interior of the triangle

(B) Atthe mid point of the hypotenuse

(C) Atthe mid point of the base

(D) Atthe 90°angle

The diameter of a sphere is 6 cm. It is
melted and drawn into a wire of diameter
2mm. The length of the wire is —

(A) (B)
©) 36m (D) 66m

164.

12m 18m

Out of three given numbers, the first one is
twice the second and three times the third.
If the average of these numbers is 88, then
the differences between first and third is —

A) (B)
(C) %6 (D)

165.

48 72

32
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If% 581 @ ABC F gfer 9 A6 4A=
5B=7c€rﬁrmzAa?|'<Bamaia1%—
A
(B)
(C) 245196

161.

196,245
196,140

(D) 245,140

162, @HeTg ISt ABC ¥ 7% AD,BC W &
T a-

A ;

A

D C

(A) 2AB?= 3AD? (B) 4AB*= 3AD?
(C) 3AB*= 2AD? (D) 3AB*= 4AD?

Hﬂ?ﬁfﬂﬁ‘gu'i%qﬁ%i?ﬁﬁaﬁf%-
@A Bt &

@ T 3 AA g W

©) o 3 7 By W

163.

(D) 90° Ho] W
@ﬁaﬂm%sﬁouﬁ@ﬁw

m@aﬂﬁqﬁaﬁﬂmaﬁm
mzﬁo@o%awmaﬁaﬂé%—

164.

165.
gﬂﬁ@?ﬁﬂﬁﬂﬁ*ﬁi%ﬂﬁaﬂmﬁ
ﬂ@maa%aqﬁaﬁ?eﬁﬂﬁﬁwﬂ

I &
(A) 48
(C) 9

(B) 72
(D) 32

¥
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167.

168.

169.

170.

166. The population of a town is 8000. It

increases by 10% during first year and by
20% during second year. The population

after 2 year will be -

A)
(B)
(©)
(D)

10560
10400
10620
8960

\/248+\/52+«/m =9

(A)
(B)
(€)
(D)

14
16
18
20

167.

The expression §27 _ 93 has a factor. 168,

(A)
(B)
()
(D)

The last digit in the expansion of (41)" -1.

Where n is any positive integer is —

A)
(B)
(©)
(D)

3
7
10
17

2
1
0

None of these

169.

Which one of the following sets of lengths 170

of sides does not relate to tha

angled triangle —

(A)
(B)
(C)
(D)

34,5

5,12,13
7,24,25
9,12,16

t of a right
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166. Tl 18X # SEE & 8000 AR gad
W af 10% B ;X 20% TR 2 af R
s Bt &t & o A oiEE -

(A)
(B)
(©)
(D)

10560
10400
10620

8960

\/248+\/52+\/UT4'=?

(A)
(B)
(®)
(D)

14
16
18
20

'[4 52;1 _2311 &H Tﬁ; %_

(A)
(B
(C)
(D)

AL 1 O S P ¥ A (41) -
% e & arfvaw o

(A)
(B)
(C)

(D)

3
7
10
17

2
1

0

T 8 A T

TR W A F DY o ae
BT BgeT 78 qwifar-

(A)
(B)
(®)
(D)

345
5,12,13
7,24,25

9,12,16
v
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171. If the sides of a square are increased by 171 gft @ H Yo 10% TG T QI

172.

173.

174.

175.

10% then its area is increased by —
A) 10%
(B) 20%
C) 21%

1
(D) 225 %

Ratio of the volume of a cube to that of a
sphere which will fit inside the cube is —

A 2:37
B) 6:7
©€) V2:x

(D) None of these

A positive integer is selected at random and
is divided by 7. What is the probability that
the remainder is not 1.

3
®w 3 ® >

4 6
© 3 © =

In a circle with centre 0, AB and CD are two
diameters perpendicular to each other. The
length of chord AC is —

(A) 24B (B) J24B
1 1
W) gAR (D)o

Abag has 5 blue balls and 3 white balls. A
ball is drawn from the bag without looking
into the bag. The probability of getting a
white ball is :

(B)

W | =

1
(A) 3

(€) (D)

| W
o0 | W
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172.

173.

174.

175.

B%d B T B W &

A)  10%
(B) 20%
C) 21%

1

229
(D) 5 %

3 e, 5 & G 0 A 89 ol Mol B
HETH B ST &-

(A) 2:«/371'

B) 6:=

©C) J2:7

(D) FH § BIs T

T S QO S g T § SR
SR 7 @ W R wn ¥ g@ee § R
quwA 1 TE &

(A) (B)

(€) (D)

e g o @ 0 B, AB 3R CD 6%
T I B, Sl AC ) TEE o-

(A) (B) 24B

N
Qe 9w

2AB

%AB (D) T/l——z—AB
g | 5 Al a3 9%% 18 o S
¥ u g B R 3 b S 8, 9

o g I o 2 @ mfdeed ©

()

1
® 3 ® 3

(©)

| W

5
9y, =

L
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Find out the relationship between two words.

176. Boat : Oar :: Bicycle : ?

177.

178.

179.

180.

A)
(B)
©
(D)

Pen:

A)

(B)
©)

(D)

Cataract : Eye :: Jaundice : ?

(A)
(B)
(©)
(D)

Road

Wheel

Seat

Paddle

Ink :: Pencil : ?
Knife

Write

Lead

Sharpener

Tongue

Liver

Nose

Stomach

Doctor : Nurse :: ? : Follower

(A)
(B)
(©)
(D)

Cobbler : Shoe : Carpenter : ?

A)
B)
(©)
D)

Leader
Employer
Union

Worker

Furniture
Butcher
Painting

Artist

M G99 9@ 9% S B

176, 9 : &Y © @ GrEfh : 7

177.

(A)
(B)
(C)

(D)
U

A

(B)

- (©)

178.

179.

180.

(D)

{4 HRES

Afcrfe : o : : difeEr ¢ ?

(A)

(B) Ipd

© T

(D) STHR™ 4

SRRT ¢ T ¢ : argERend : ?

(A)

(B) o

(©) uH

(D) FHHETA

Ao e 7

A)

(B)

©

©
o '
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Directions (Q.No.181-185) in each of the Plq - (Wodo 181-185) F F oA =

L following questions, find the odd words pair & as S e q B |
from the given alternatives

Page 34 of 40

I 181. (A) T
| 181. (A) Hil
? ®) @
(8) Valley
l | €y &
(C) River
L (D) i
(D) Dam
P . 182. (A) SEIH
182. (A) Jasmine
f (B) Hibiscus (B) igi;lui“.
: (C) Marigold (©)
f
(D) Lotus (D) &
183. (A) June 183. (&) T -
(B) August (B) 3'. T
(C) January (C) EECE
(D) December (D) fE=R
184. (A) Aunt 184. (A) T
(B) Mother (B) A
(C) Uncle (C) ==
(D) Niece (D) SSH
185. (A) Ginger 185. (A) ™
(B) Turmeric (B) Gl
(C) Potato (C) Y
(D) Cabbage D) A

Set-D / Class-IX / 520
*




186.

187.

188.

189.

190.

If DOWN is coded as FQYP, then the word
WITH will be coded as:

(A)  KYJV
(B) YK
(C) YKW
(D) JKVY

If Rose is coded as 6821, CHAIR is coded
as 73456 and PREACH is coded as
961473, what will be the code for SEARCH?

(A) 318826
(B) 214673
(C) 214763
(D) 216473

In a certain code APPROACH is coded as
CHOAPRAP, How will RESTRICT be
coded?

(A) CTRISTER
(B) ERTSIRTC
(C) CTRISTRE
(D) TCIRSTRE

Ifin a certain code, EXCURTION is coded
as CXEURTNOI, SCIENTIST will be coded
in the same manner as

(A) ICSENTTSI
(B) ICSNTETSI
(C) ICENSTTSI
(D) ICSTNETTSI

In a certain code language CHILD is written
as IMOQJ. How will BABE be written in the
same language

(A HFHJ
(B) FGFK
(C) FFGJ
(D) HFGJ
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186.

187.

188.

189.

190.

(A

A DOWN & i FQYP &, @ It wmr
T WITH 1 31 IS 8 ?

(A)  KYJV

(B) YK

(C) YKVJ

(D). JKVY

e 6 B AT § ROSE 316821,
CHAIR &l 73456 31X PREACH I 961473

ferar smer &, @ o€ W & SEARCH @
9 forar s ?

(A) 318826

(B) 214673

(C) 214763

(D) 216473

R APPROACH 1 #'e CHOAPRAP ¥,

o SE A F RESTRICT & #E #47 &?
CTRISTER |
ERTSIRTC

CTRISTRE

TCIRSTRE

(B)
(C)
(D)

i el widlosw AT § EXCURTION &t
CXEURTNOI ferar srar 8, & 36 | &
SCIENTIST &l 58 WehY foran siarm?
(A) ICSENTTSI

(B) ICSNTETSI

(C) ICENSTTSI

(D) ICSTNETTSI

At el |idfes |9t § CHILD 3 IMoQy
feran s B, o SE A § BABE @t R
TR forar smam?

(A)  HFHJ

(B) FGFK

(C) FFGJ

(D) HFGJ

’
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186.

187.

188.

189.

190.

If DOWN is coded as FQYP, then the word
WITH will be coded as:

(A)  KYJV
(B) YK
(C) YKW
(D) JKVY

If Rose is coded as 6821 , CHAIR is coded
as 73456 and PREACH is coded as
961473, what will be the code for SEARCH?

(A) 318826
(B) 214673
(C) 214763
(D) 216473

In a certain code APPROACH is coded as
CHOAPRAP, How will RESTRICT be
coded?

(A) CTRISTER
(B) ERTSIRTC
(C) CTRISTRE
(D) TCIRSTRE

If in a certain code, EXCURTION is coded
as CXEURTNOI, SCIENTIST will be coded
in the same manner as

(A) ICSENTTSI
(B) ICSNTETSI
(C) ICENSTTSI
(D) ICSTNETTSI

Inacertain code language CHILD is written
as IMOQJ. How will BABE be written in the
same language

(A)  HFHJ
(B) FGFK
(C) FFGJ
(D) HFGJ
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186.

187.

188.

189.

190.

(A

it DOWN # He FQYPE, & & st
T WITH & T s 8 ?

(A)  KYJV
(B) YK
(C) YKWJ
(D). JKVY

Ffe el i W § ROSE &y 6821,
CHAIR I 73456 31X PREACH %} 961473
ferar smen B, o e W § SEARCH
> forar s ?

(A) 318826

(B) 214673

(C) 214763

(D) 216473

A% APPROACH & e CHOAPRAP g,

o SE T F RESTRICT %1 e &7 a7

CTRISTER

(B) ERTSIRTC

(©)
(D)

3% e widias A § EXCURTION &t
CXEURTNOI forer e B, ar ot oy 3
SCIENTIST &t 69 UehY Remar siamm?
(A) ICSENTTSI

(B) ICSNTETSI

(C) ICENSTTSI

(D) ICSTNETTSI

afs el wifes 9o & cHILD % IMoqy
feren S B, o 6 A § BABE 3t g
TR forEr sre?

(A)  HFHJ

(B) FGFK

(C) FFGJ

(D) HFGJ

CTRISTRE
TCIRSTRE
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186.

187.

188.

189.

190.

If DOWN is coded as FQYP, then the word
WITH will be coded as:

(A)  KYJV
(B) YK
(C) YKW
(D) JKVY

If Rose is coded as 6821 , CHAIR is coded
as 73456 and PREACH is coded as
961473, what will be the code for SEARCH?

(A) 318826
(B) 214673
(C) 214763
(D) 216473

In a certain code APPROACH is coded as
CHOAPRAP, How will RESTRICT be
coded?

(A) CTRISTER
(B) ERTSIRTC
(C) CTRISTRE
(D) TCIRSTRE

If in a certain code, EXCURTION is coded
as CXEURTNOI, SCIENTIST will be coded
in the same manner as

(A) ICSENTTSI
(B) ICSNTETSI
(C) ICENSTTSI
(D) ICSTNETTSI

Inacertain code language CHILD is written
as IMOQJ. How will BABE be written in the
same language

(A)  HFHJ
(B) FGFK
(C) FFGJ
(D) HFGJ
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186.

187.

188.

189.

190.

)

it DOWN # HE FQYPE, & ad st
T WITH & 1 $ig 2 ?

(A)  KYJV

(B) YK

(C) YKVJ

(D). JKVY

e Feelt i W § ROSE &y 6821,
CHAIR I 73456 31X PREACH %} 961473
ferar sen B, o e W § SEARCH &
Y forar sRAT ?

(A) 318826

(B) 214673

(C) 214763

(D) 216473

I APPROACH 1 318 CHOAPRAP z
o SE AT ¥ RESTRICT %1 e &4y 27

CTRISTER
ERTSIRTC
CTRISTRE
TCIRSTRE

(B)
(©)
(D)

3 e widias W § EXCURTION &t
CXEURTNOI forar e 8, & 3t swiior &
SCIENTIST &t 59 UeY Remar sarm?
(A) ICSENTTSI

(B) ICSNTETSI

(C) ICENSTTSI

(D) ICSTNETTSI

afe bl wifoes o & CHILD 9 IMoqy
fera e B, o € AT F BABE 3 Rrg
TR ferEr sre?

(A)  HFHJ

(B) FGFK

(C) FFGJ

(D) HFGJ
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I o

Directions (Q.No. 191-195) in the questions
given below, series is given in which one
number missing. Choose the correct
alternative from the given ones that will
complete the series.

191. W,P,J,2,A
(A E
B) C
C) s
(D) G
192. BEH, DEJ, FEL, ?
A) EM
(B) IEO
(C) IEN
(D) IEE
193. APZLT, CQYNR, ERXPP, GSWRN,?
A) IUTVL
(B) IMVTL
(C) ITVIL
(D) IPNVTL
194. RAPMAPHOT,?
(A) FUN
(B) HNE
(C) FWM
(D) FMV
195. ZBAY,JROL,OMLN,?
(A) YBBX
(B) YDBX
() YAAX
(D) YCBX
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fdg - (vodo 191-195)ﬁ1=r gaaral J

191.

192.

193.

194.

195.

2 W o B P Faw H AW
¥ @ gu awEres (?) ReT @ 9w
R ™ el ¥ & @ @ fawew
e Red gaar @@ @ sah
W,P,J, 2, A

(A) E

(B) C

(C) S

(D) G

BEH, DEJ, FEL, ?

A) - IEM

(B) IEO

(C) IEN

(D) IEE

APZLT, CQYNR, ERXPP, GSWN, ?

(A) IUTVL

(B) IMVTL

(C) ITVTL

(D) IPNVTL

RAP, MAP, HOT, ?

(A) FUN

(B) HNE

(C) FwM

(D) FMV

ZBAY, JROI, OMLN, ?

(A) YBBX

(B) YDBX

(C) YAAX

(D) YCBX
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197.

198.

199.

200.

196.

18,24,21,27,2.30.27
A) 24
(B) 22
(©) 2
(D) 20
2,5,10,17,26,37,50,2
(A) 69

(B) 63

- (C) 65

(D) 67
6,11,21,36,56,2
A 71
(B) 81
() 101
(D) of
26,37,50,65,2,101
A) 81
(B) 83
(C) 82
(D) 84
4,24,48 80,7,168
(A) 120
(B) 121
C) 122

(D) 123

196.

18,24,21,27, 72, 30, 27
(A) 24
(B) " 22

(C) 26

- (D) 20

197.

198.

199.

200.
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2,5,10, 17, 26, 37, 50, ?
(A) 69

(B) 63

(C) 65

(D) 67

6, 11, 21, 36, 56, ?
A 71

(B) 81

(C) 101

(D) 91

26, 37, 50, 65, 2, 101
A) 81

(B) 83

(C) 82

(D) 84
4,24, 48, 80, 2, 168
A) 120

(B) 121

(C) 122

(D) 123
'
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